2 VX5 Va8l Universal Radiator Mount Kit

INSTRUCTIONS

The following instructions and templates are designed for use with Allstar Performance radiators. Brackets may require modifica-
tion when using other manufacturer’s radiators. A template is included to assist in notching the bracket for an Allstar radiator
outlet, this is only a guideline and measurements should always be taken to assure a proper fit.

PERFORMANCE

1. Verify all pieces are included using contents list.

2. Choose the appropriate Template for a passenger side or drivers side outlet radiator, (see page 2 of instructions).

3. Cut out Template and position on Cradle Support [A or B] according to next step.

4. Cradle Supports [A & B] have a flat edge and an edge with a 90 degree angle for securing to Angle Brackets [C].
Place the Template on the flat edge of the Cradle Support and secure in place.

5. Use a 2" hole saw to drill the hole in the Cradle Support using the Template as a guide for lower radiator outlet.

6. Additional trimming around hole may be required to allow Cradle Support to slide onto the radiator tank.

7. Cradle Supports [A & B] and Angle Brackets [C] are not predrilled. This kit is designed to fit a wide range of vehicles and
will require drilling once proper mounting positions are determined.

8. Position and mount Angle Brackets [C] to Cradle Supports [A & B] by drilling four 3/16" holes and install with provided
hardware [D, E, & F].

o. Lastly, position and drill four 5/16” mounting holes in the Angle Brackets [C] and fasten radiator to the radiator support
using included hardware [G, H, & 1.

KIT CONTENTS:

A. Cradle Support (LH) Driver Side, (x1)
B. Cradle Support (RH) Passenger Side, (x1)
C. Angle Bracket (x2)

D. Bolt, 5/16"-18 x 1" (x4)
E. Flat Washer, 5/16" (x8)

F. Locking Nut, 5/16"-18 (x4)
G. Bolt, 10-32x 5/8" (x4)

H. Locking Nut, 10-32 (x4)

I. Flat Washer, 10-32 (x4)

17t

00066

- I GOm

Assembled Kit

Allstar Performance 8300 Lane Dr., Watervliet, Ml 49098
Phone: (269) 463-8000 Fax: (800) 772-2618 www.allstarperformance.com

Form 1077 Page 1 of 2 Rev. 030209



- VYN K wy:-V, 8l Universal Radiator Mount Kit

TEMPLATES

PERFORMANCE

Template For Cradle Template For Cradle
Support "A" with a Support "B" with
(RH) passenger side a (LH) driver side
outlet outlet
2" HOLE SAW 2" HOLE SAW
N~ bt
~ -~
~ -~
~ -

- " \\ ~ RS
4 N 7’7 N
\ /

\ /

\ I
1 I
] \

/ \

/ \

4 N
~ - ~ -

e = Y —— e T ==

Allstar Performance 8300 Lane Dr., Watervliet, Ml 49098
Phone: (269) 463-8000 Fax: (800) 772-2618 www.allstarperformance.com

Form 1077 Page 2 of 2 Rev. 030209



